
SAP ABAP table TEREGPLNOTIF {Alloc. of Planning Plant to Notif.Profile and Reg.Struc.Area}

TEREGPLNOTIF

MANDT [CLNT (3)]

NOTPROFILE [CHAR (30)]

REGIOAREA [CHAR (8)]

IWERK [CHAR (4)]

EADRREGAREA

CLIENT [CLNT (3)]

ROLE [NUMC (8)]

REGIOAREA [CHAR (8)]

 TEREGPLNOTIF-REGIOAREA = EADRREGAREA-REGIOAREA 
0..N

0..N
T000

MANDT [CLNT (3)]
 TEREGPLNOTIF-MANDT = T000-MANDT 

0..N
0..N

TEN399A

MANDT [CLNT (3)]

IWERK [CHAR (4)]

NOTPROFILE [CHAR (30)]

 TEREGPLNOTIF-IWERK = TEN399A-IWERK 

0..N

0..N

 TEREGPLNOTIF-NOTPROFILE = TEN399A-NOTPROFILE 

0..N

0..N


